M6 BIIEFLZEEFORRKNGE (FXEH)

FR28F3A KRBT
DJ R _(FEXR#R[641])
HH | BE5IEFL | BE)FIEHIE = RS EE RS
REATSHE| HBE(ATO)RK (A) (FAZ<RME) | YHRER
EXES =2x¥0 BEEEYO (B) (A/B)
JtimE R #E 2,333.9 86.0 2,419.9 2,419.9 100%
REAREHE 6, 080. 4 174.0 6, 254. 4 6, 254. 4 100%
RB iR #E 1,429.4 1,429. 4 1,429. 4 100%
7 B AR #%5E 4,185. 4 8.5 4,193.9 4,193.9 100%
7o ] e & $50E 855. 2 855. 2 855. 2 100%
JLI % S8 1,984. 1 1,984. 1 1,984. 1 100%
aEt 16, 868. 4 268.5 17,136. 9 17,136. 9 100%
@J R (FE#R[54])
HH | BE5IEFL | BE)FIEFIE = EXX0 |EEXoak
HBATORE| EEATOR ) (BZ<Xm) | vsE=R
EXES =2X¥0 EEEYO (B) (A/B)
JtimE R #E 148. 8 148.8 148.8 100%
REBAREHKE 1,194.2 1,194.2 1,194.2 100%
RB RS #E 552. 6 552. 6 552. 6 100%
7 B AR #%5E 812.6 812.6 812.6 100%
AN IR 8% 8 288.9 288.9 288.9 100%
&t 2,997. 1 2,997. 1 2,997. 1 100%
QAFR#K[1 541]
HE | BBIERL | BB5IEHH = EEFo |[EEXosk
KEATS)IRE| ZBEATO)H (A) (FAE<EM) | YHRER
ExEH e SN EEEO (B) (A/B)
RE#&%E 399.3 64.0 463. 3 463. 3 100%
7R % iE 174.0 2.6 176.6 176.6 100%
R EH 100. 3 100. 3 100. 3 100%
REEH 84.7 84.7 84.7 100%
NEAEHK 120.5 120.5 120.5 100%
RERSITEHK 16.5 80.0 96.5 96.5 100%
RESITEHK 87.0 87.0 87.0 100%
FEIR G E 35.9 35.9 35.9 100%
BEEHKE 437.7 431.7 431.7 100%
I # B AE 553. 1 10. 2 563. 3 563. 3 100%
rBERGKE 145. 1 145. 1 145. 1 100%
RIRESHKE 66. 1 66. 1 66. 1 100%
PR 2 E &k 140.8 140.8 140.8 100%
PR 4 B X 88 40. 1 40. 1 40. 1 100%
7 B A fE 106. 1 106. 1 106. 1 100%
&Et 2,422.5 241.5 2,664.0 2,664.0 100%
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@NEHTHRE [1 04t]

HH | BESIELE | BEsIE Hia = RS EE RS
REATS)IE| RBE(ATOK (A) (FAZ<RER) | YHRER

EXEA =E S EEEXO (B) (A/B)
LU 48.0 48.0 48.0 100%
& 28.7 28.7 28.7 100%
BRR AR 18.3 98. 1 116. 4 116. 4 100%
RUR i T i 195. 1 195. 1 195. 1 100%
R 53.4 53.4 53.4 100%
BEHET 92.5 92.5 92.5 100%
RERTH 31.2 31.2 31.2 100%
KB 137.8 137.8 137.8 100%
AT 30. 6 30.6 30. 6 100%
&R 29. 8 29.8 29.8 100%
&t 18.3 745.2 763. 5 763. 5 100%
*RRARER., KEHTRERIHRELZET
OdfuhRSk [12 74] _

HE | BESIEZL | BEFIE I = EER I EESEETS

FEEATS)HE| REATOR (A) (FIZ<EM) | YRER

EXEA =2E40 EEESD (B) (A/B)
ERELE Y UKE 37.8 37.8 37.8 100%
shEdkiE 30.7 30.7 30.7 100%
AR 121.9 121.9 121.9 100%
1GRUNDO TER AT %38 82.0 82.0 82.0 100%
= EdkiE 107.6 107.6 107.6 100%
& ZEEHKE 7.1 7.1 7.1 100%
BT PR AT 54.9 54.9 54.9 100%
BEXAE 9.2 9.2 9.2 100%
SiEHE 57.4 57.4 57.4 100%
A P BEE B %8 94.2 94.2 94.2 100%
B FIS R #E 23.0 23.0 23.0 100%
WL 838 30.5 30.5 30.5 100%
tERAT 59.5 59.5 59.5 100%
A5 hXHEHIE 97.0 97.0 97.0 100%
R E] 33.2 33.2 33.2 100%
L% D #kiE 102. 4 102. 4 102. 4 100%
LEESH 11.6 11.6 11.6 100%
7ILE 28 14.4 14.4 14.4 100%
= L 5§08 93.2 93.2 93.2 100%
ES 4.9 4.9 4.9 100%
el ] 20. 1 20. 1 20. 1 100%
B4 L= 6.5 6.5 6.5 100%
HULDE L PFEE 100. 1 100. 1 100. 1 100%
JeRESKE 20. 6 20. 6 20. 6 100%
IRLY L v #kiE 17.8 17.8 17.8 100%
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THH | BEsIeelt | B 5505 i EEEEN EEEEETE
REATS)HE| HBEATOK (A) (FAZ<REM) | YHRER

EXEL =2Xx0 EEESD (B) (A/B)
R E ik 26.5 26.5 26.5 100%
Utz b bRk E 14.3 14.3 14.3 100%
EEFISE 55. 6 55. 6 55. 6 100%
L 88 41.9 41.9 41.9 100%
B AEkE 30.7 30.7 30.7 100%
hi- b ERAEIE 44.1 44.1 44.1 100%
LIEE& 33.7 33.7 33.7 100%
LEBREKE 25.4 25.4 25.4 100%
KR 8kE 7.7 7.7 7.7 100%
Tk 5.7 5.7 5.7 100%
INEEKE 16. 4 16. 4 16. 4 100%
b #askiE 19.8 19.8 19.8 100%
W HEKE 26.8 26.8 26.8 100%
ZILgkiE 2.2 2.2 2.2 100%
RESEHKE 16. 2 16. 2 16. 2 100%
I/ BEH% 10.0 10.0 10.0 100%
FaAR 2 L gksE 15.0 15.0 15.0 100%
ELTRIT 26.6 26.6 26.6 100%
BEBEKE 14.6 14.6 14.6 100%
RRERE = R EkE 12.2 12.2 12.2 100%
B AR A T #kiE 58.3 58.3 58.3 100%
B SR EIE 53.0 53.0 53.0 100%
FE-2—5IUHKE 12.5 12.5 12.5 100%
Bl A 22 7 = iR i 17.9 17.9 17.9 100%
A ESKET VR 10.7 10.7 10.7 100%
HESRKE 7.5 7.5 7.5 100%
RERT 45.7 45.7 45.7 100%
RERREKE 29.4 29.4 29. 4 100%
ERBE 9.2 9.2 9.2 100%
B4 ] %38 11.0 11.0 11.0 100%
RF)EE 65.0 65.0 65.0 100%
& I 8%3E 17.8 17.8 17.8 100%
REEAMKE 67.7 67.7 67.7 100%
LEHE 18.0 18.0 18.0 100%
BHBRIKERE 45.3 45.3 45.3 100%
8 FE R R 3.1 3.1 3.1 100%
2 HEREEEKE 15.2 15.2 15.2 100%
Fh & [ R 22 P S AR gk 4.2 4.2 4.2 100%
= I k58 47.0 47.0 47.0 100%
= 7.0 7.0 7.0 100%
R EE 22.3 22.3 22.3 100%
18 R 8%E 34.5 34.5 34.5 100%
BA SN %38 25.1 25.1 25.1 100%

6-3




THH | BEsIeelt | B 5505 i EEEEN EEEEETE
REATS)HE| HBEATOK (A) (FAZ<REM) | YHRER

EXEL =2Xx0 EEESD (B) (A/B)
ERJIgE 66. 1 66. 1 66. 1 100%
B EKE 18. 1 18. 1 18. 1 100%
ZbHAE 53.0 53.0 53.0 100%
LS E R E 63.2 63.2 63.2 100%
HFEEH% 69. 2 69. 2 69. 2 100%
It KBR 247 E 8% 5.9 5.9 5.9 100%
WP =R SkE 7.6 1.5 15. 1 15. 1 100%
RILEEKE 14.3 14.3 14.3 100%
BESE 14.8 14.8 14.8 100%
pA S| 59.5 59.5 59.5 100%
K FE 838 5.5 5.5 55 100%
BULE 14.4 14.4 14.4 100%
JLins s o J8kiE 114.0 114.0 114.0 100%
& 14.7 14.7 14.7 100%
FERLE 2.0 2.0 2.0 100%
A7 R k8 12.5 12.5 12.5 100%
1 BA 7 [ s 22 6.9 6.9 6.9 100%
ERAERSRGE 8.6 8.6 8.6 100%
AL E 14.3 14.3 14.3 100%
KBRS R K ERE 9.2 9.2 9.2 100%
2 BERikE 3.0 3.0 3.0 100%
78 KR = R 8iE 3.8 3.8 3.8 100%
—HEE 42.2 42.2 42.2 100%
55 E#H% 16. 1 16. 1 16. 1 100%
KEEREIKE 10. 4 10. 4 10. 4 100%
88 )11 8%:8 32.7 32.7 32.7 100%
& p T 2.7 2.7 2.7 100%
J\BBHT 16.5 16.5 16.5 100%
BHERIT 56. 1 56. 1 56. 1 100%
R EKE 38.3 38.3 38.3 100%
=BT EHS 60.0 60.0 60.0 100%
Bk iR R iE 8.5 8.5 8.5 100%
¥ hiE 33.9 33.9 33.9 100%
TEL A LEHE 109. 3 109. 3 109. 3 100%
REERHKE 16.0 16.0 16.0 100%
LA 2.1 2.1 2.1 100%
SREKE 43.2 43.2 43.2 100%
EEAERHKE 13. 1 13. 1 13. 1 100%
H AR EkiE 13.7 13.7 13.7 100%
e ] 8 X 8 17.7 17.7 17.7 100%
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I5E | BB Rl | B 205 = Hla EEE I EEEEESR
REATS)HE| HBEATOK (A) (FAZ<REM) | YHRER

EXEL =2Xx0 EEESD (B) (A/B)
KRSk E 93.8 93.8 93.8 100%
FRREHE 49. 2 49.2 49.2 100%
&3E3E 24.8 24.8 24.8 100%
BiESNA LiE 116.9 116.9 116.9 100%
HEE/L— 17.8 17.8 17.8 100%
MEE/ L—IL 6.6 6.6 6.6 100%
FEHTEE/ L—IL 15.2 15.2 15.2 100%
ZEHHE/ L—IL 16.0 16.0 16.0 100%
gBRY)Y—bSAY 5.0 5.0 5.0 100%
PNUTRE S SE] 28.0 28.0 28.0 100%
JE AN B R E 8.8 8.8 8.8 100%
hEBETHE/ L—IL 12.9 12.9 12.9 100%
1Ty 4.1 4.1 4.1 100%
BEHBHRAE 12.7 12.7 12.7 100%
R TRE 10.6 10. 6 10. 6 100%
OIFAE X)) 14.7 14.7 14.7 100%
BHERRXE 8.9 8.9 8.9 100%
P A 15.3 15.3 15.3 100%
INCTE N3] 18.4 18.4 18.4 100%
&5t 3,631.4 306. 0 3,937.4 3,937.4 100%
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